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3HUWDPEDKDQ� SHQGXGXN� GL� NRWD�NRWD� PHWURSROLWDQ� PHQJDNLEDWNDQ�

SHQLQJNDWDQ� SHPEDQJXQDQ� JHGXQJ� GDQ� MXPODK� NHQGDUDDQ�� 1DPXQ� NHWHUEDWDVDQ�

ODKDQ� NRWD� MXJD�PHQJDNLEDWNDQ� SHQ\HPSLWDQ� ODKDQ� SDUNLU� \DQJ� WLGDN� VHEDQGLQJ�

GHQJDQ�MXPODK�NHQGDUDDQ��2OHK�VHEDE�LWX�XQWXN�PHQJDWDVL�KDO�WHUVHEXW�SDGD�JHGXQJ�

GLEDQJXQ� ODKDQ�SDUNLU�EDZDK� WDQDK� �EDVHPHQW�� 7HWDSL�SHQJHOXDUDQ�ELD\D� OLVWULN�

SDGD�EDVHPHQW FXNXS�EHVDU�NDUHQD�XPXPQ\D�SHQHUDQJDQ�GDQ�SHQJJXQDDQ�NLSDV���

IDQ EDVHPHQW XQWXN� VLUNXODVL� EHURSHUDVL� VHODPD� �� MDP��0DND� SHQXOLV�PHPEHUL�

VROXVL�XQWXN PHQJRQWURO�GDQ�PHPRQLWRU�VXKX��NHOHPEDEDQ�GDQ�SHQHUDQJDQ���

6XKX�GDQ�NHOHPEDEDQ�EDVHPHQW GLDWXU�VHVXDL�GHQJDQ�VWDQGDU�NHVHKDWDQ�GDQ�

NHQ\DPDQDQ�\DQJ�GDSDW�GLWHULPD�ROHK�WXEXK�PDQXVLD��.HWLND�SHPEDFDDQ�VXKX�ROHK�

VHQVRU '+7���WHUJRORQJ�WHUODOX�SDQDV�PDND�NLSDV��� IDQ EDVHPHQW DNDQ�EHUJHUDN��

-LND�SHPEDFDDQ�NHOHPEDEDQ�ROHK�VHQVRU�'+7���GLDQJJDS�WHUODOX�NHULQJ�PDND�DNDQ�

GLNHOXDUNDQ�HPEXQ�PHODOXL�KXPLGLILHU���6HGDQJNDQ�SHQHUDQJDQ�ROHK� ODPSX�SDGD�

EDVHPHQW EHUGDVDUNDQ�OHWDN�NHQGDUDDQ�GLGHWHNVL�ROHK�SUR[LPLW\�

'DUL� KDVLO� SHQHOLWLDQ� \DQJ� WHODK� GLMDODQNDQ� GDSDW� PHUDQFDQJ� GDQ�

PHQHUDSNDQ�VLVWHP�RWRPDWLV�XQWXN�PHQJRQWURO�VXKX��NHOHPEDEDQ��GDQ�SHQHUDQJDQ�

DJDU�VHVXDL�GHQJDQ�SHUDWXUDQ�.HPHQWULDQ�.HVHKDWDQ�GDODP�ZDNWX�����PHQLW��VHUWD�

PHPRQLWRU�VXKX��NHOHPEDEDQ SDGD�EDVHPHQW JHGXQJ�
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